Merit Simplifying Exponents #2

Write the following in the form b?, where b is a single integer and a is a simplified expression.

1. 28 x 2P

2. 5K x K
53x

3. e

4, 125 x 5"

5. 162 x 8

6. V643%

7. Fx 9x-3
9X+2

8. v

Solve the following:

9. 5x 3%= 405

10. 2% 1x2¥%=64

11.  9=27

12. 51 > 200 where X is an integer

13.  8'=16

14. 2""1 < 50 where n is a whole number
15,  gM-2=25m

16. 2**14 2x=48



Answers: Merit Simplifying and Solving Exponents #2

These are generally in terms of the lowest possible integer, but some might also be solved in

terms of a larger integer.
1 2&1 X 2b - 2a +b

2. 5K x 2k = 10K

3. 5i3_xz = 5o (x-2)= 520+2

4.  125x5" _g3y5n = gn+3

5. 162 x 8 = 292x23 = 2Mx3 = pla+3

6. V643% = 8% [or =642

7. ¥ =@y = 3*x 326 = 3%-8 note that the x — 3 both double
8 9"3:2 _ (32;z+2 _ 32;Cx+4 _ gxea o = 9z;xgx _ giy ar o gris

9. 5x3¥= 405 = 3*=405/5 = 3*=81=3* = x=4

10. 2*1x2%=¢64 = 21220 = a4x-1=6 = x=i
11. 9¥=21= (=3 = 3*=3 = 2x=3 = x=15[or %3]
12. 51> 200 200 is between 5% = 125 and 5% = 625, so 5~ ! is more than 5°

= 5*-1> 53 = x-1>3 = X > 4 [or “X is more than 4”]
13. 8=16 = (=20 = 2X=2 = 3x=4 = x="

14, 2"1<50 = 2"!'<2%[=64 = n-1<6 =  nisfromlto6
15, 8M=2=25M — = (Q¥M-2= %M —  M-6-_2M —  3Ip_g=5m = m=-3

16. 2*"14 2X=48 = 2x2X+ 2X=48 = 3x2X=48 = 2*=16 = x=4



